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The name of the new element is:

The colour of the new element is:

The new element is not solid, but:

The chemical symbol is:

Each particle consists of atoms.

You can produce the new element if you give , HCl (aq),

to potassium permanganate, (s).
8. The new element is (hazard symbol: . ,T), so you
9. have to work in the fume
10. The new element can colours, so after it is added to
11. green leaves or red flowers, they turn after some minutes.

12. The new element is also used to clean in swimming pools.




